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udIBiaaiza A uga Aisae 3ie

1 = T 3T (el Th)

2(1+1) =38

3 = Y 3

3', (7 1 3THT) = YA (42 TEN; 1,260 feT; v w4 &iR
T, SR ST wHA'’ = T w6 3%, 9 w1, afas
M <4 BW)

4 = gy 1 37w (Sfyeh si, o= i)

5 (10 %1 3T1) = wifa e

6 (7 - 1) = 3TqUt (TF, B, STHEEHI)

7 (3 + 4) = quian (dfa= Fegoian)

10 = AT Fegorar (afguiar = wmel)

12 (3 x 4) = wfHer Feguiar

24 (2 x 12) = it qRUidT &1 SG

40 (4 x 10) = AT TR TR FEIT

42 (T4 3'%)

144 (12 x 12) = =it FEYiaT st Frgoar

666 (T 6) = STYUTI, T, DA IR STHHE H1 TG

1,000 (10 x 10 x 10) = FHYUIdT T FEYUIdT T FEIUI

1,260 (3€ 3'%)

1,600 (4 x 4 x 10 x 10) = HHAE WR 9 oI

7,000 (7 x 1,000) = HEIUTAT 1 TG

12,000 (12 x 1,000) = FYUAT 1 T

1,44,000 (144 x 1,000) = FEIOAT 1 T

20,00,00,000 (2 x &g 10) = 3T5/F |He

1,00,00,00,000 3R 1fereh = 31E@, AT THH T W
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